
8062+25538=33600

f = open('24.txt')
contents = f.readline ()
contents = list (contents)
contents.pop(-1)
print(contents)

count = 1
fc = 0
i = 0
while i < len(contents) - 1:
   if contents [i] == 'Z' and contents [i + 1] == 'Z':
       count += 1
   else:
       if count == 9:
           fc += 1
       count = 1
   i += 1

print(fc)
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f = open('24.txt')
contents = f.readline ()
contents = list (contents)
contents.pop(-1)
print(contents)

count = 1
fc = 0
i = 0
while i < len(contents) - 1:
   if contents [i] == 'X' and contents [i + 1] == 'X':
       count += 1
   else:
       fc += count // 6
       count = 1
   i += 1

print(fc)ТОЛЬКО 6 XXXXXX 
без других букв

МОЖНО 6 XXXXXX 
среди других X

XXXXXXXXXXXXXXX - 2


